MAHARASHTRA STATE BOARD OF TECHNICAL EDUCATION
(Autonomous)
(ISO/IEC - 27001 - 2013 Certified)

Subject Name: Applied Mathematics Model Answer Subject Code:

WINTER- 2019 EXAMINATION

Important Instructions to Examiners:

17301

1) The answers should be examined by key words and not as word-to-word as given in the model answer scheme.
2) The model answer and the answer written by candidate may vary but the examiner may try to assess the
understanding level of the candidate.
3) The language errors such as grammatical, spelling errors should not be given more Importance (Not applicable for
subject English and Communication Skills.
4) While assessing figures, examiner may give credit for principal components indicated in the figure. The figures
drawn by candidate and model answer may vary. The examiner may give credit for any equivalent figure drawn.
5) Credits may be given step wise for numerical problems. In some cases, the assumed constant values may vary and
there may be some difference in the candidate’s answers and model answer.
6) In case of some questions credit may be given by judgement on part of examiner of relevant answer based on
candidate’s understanding.
7) For programming language papers, credit may be given to any other program based on equivalent concept.
Q. | Sub Marking
No. | Q.N. Answers Scheme
1. Attempt any TEN of the following: 10
a) | Find the point on the curve y = 7x—3x> where the inclination of the tangent is 45° 02
Ans | Y=7x-3%?
Y
dy =7-6X ’
dx
S.m=7-6x
. 0_7_
~.tan45” =7-6x Y,
~1=7-6X
x=1 7
y=7(1)-3(1)° =4 e
(xy)=(14)
b cos(log x
) Evaluate I cos(logx) dx 02
Ans X
cos(log x
jeos(lonx) o,
X
Put logx =t
1 Ya
so=dx=dt
X
~ [cost dt
. 1
=sint+c
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Model Answer
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17301

Sub
Q.N.

Answers

Marking
Scheme

b)

Ans

d)

Ans

=sin(log x)+c

Find the radius of curvature of the curve y = x* at (1,1)
y=x
W _ 3
dx
2
d—zl =6X
dx
at (1,1)

dy 2
—=3(1) =3
dx ()

3

272
{“(dy) }
dx
d’y
dx?

.. Radius of curvature is p =

[1+(3)2}2
6
. p=527

Lp=

dx
2X+5

2
Evaluate I
1
i dx
1 2X+5

= %[Iog(2x+5)]l2

~Lllog(2(2)+5)-log(2(2) +5)]

2
1 1 9
=—|log9-log7 or Zlog| =
2[ g g ] 2 g[?}

Yo

02

Yo

Yo

Yo

Yo

02

Yo

Yo
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WINTER- 2019 EXAMINATION

Subject Name: Applied Mathematics Model Answer Subject Code:| 17301
Q. | Sub Marking
No. | Q.N. Answers Scheme
1. ) 3 02

. . . . d%y dy )2
e) | Find order and degree of the differential equation o y+d—
X X
3
d’y ( dy)2
Ans | —=| y+—=
a7 ax
Squaring on both sides
T (y08)
dx? dx 1
. Order =2
.. Degree =2 1
f) | Evaluate J'(eX +X° +e) dx 02
Ans _[(ex +X°+e°) dx
e+l
=e"+ +e°x+c¢C 2
e+l
2
9) | Verify thaty = log x is a solution of x% +% =0 02
X X
Ans —1lo
y =10g X Y,
Ly 1
Tdx o x
d’y 1 Y
Td K
d?y
S X +
ae Y
1) 1 Y
3
X X
11
XX %
=0
OR
y =log x
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Q. N.

Answers

Marking
Scheme

9 | dy 1
' X

h) | Evaluate J'Iog X dx
_[ log x dx
= _[ log x.1 dx

:Iongldx—j(jldx.@j

X

Ans

:x.logx—jx.E dx
X

:x.logx—jldx

=Xx.logx—x+c

2
i) Verify that y = cos x is a solution of 3—¥+ y=0
X

Ans | y=cosx

.'.ﬂ:—sinx
dx

L d%y

Cdx®

L d%y

odx?

= —CO0S X + COS X

=0

=—C0SX

+y

OR

y = COS X

Y2

Yo

Y2

Yo

02

Yo

Y2

Yo

Yo

02

Ya

Yo

Yo
Yo
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Q. | Sub Marking
No. | Q.N. Answers Scheme

i 1
L ) .'.ﬂ:—sinx &
dx
2 1
d Z =—CO0S X %
dx
d?y
W ==Y 1
d’y
So—=—+y=0 1
a7 &
J) In a sample of 100 bulbs, if 5% of electric bulbs manufactured by a company are defective. 02
Using Poission distribution find the mean.
Ans | n=100 , p=5%=0.05
s.meanm=np
-.m=100x%0.05 1
s.m=5 1
k) | Anunbaised coin is tossed 6 times. Find the probability of getting 2 heads. 02
Ans Given n=6 , r=2
p= : q= :
27 2
= p(r)="C.(p) (o)
1 2 1 6-2
2)="C,|=||= 1
r2)=c(5) (3]
15
2)==— or 0.2343 1
P(2) 64
02
I) | Evaluate: I ! dx
x+/x
1
Ans dx
vy
1 Y
=| —=——=——dx
NN
Put /x +1=t
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Sub Marking
QN. Answers Scheme

|
N I SV
2Jx
! dx =2d 7
So——= dx =2dt
Jx
j} 2dt
t
1
=2|=dt
I3 ,
=2logt+c 2
=2Iog(«/§+1)+c Vs
m) Evaluate:j 1 oax 02
xlog x
Ans J. ! dx
xlog x
Put logx =t
.'.ldX:dt Y
X
_ %dt v
=logt+c Ya
=log(log x)+c v,
¢ dx
n) Evaluate: J‘ 02
5 2X+3
4
Ans j ox
5 2X+3
1 4 1
:E[Iog(2x+3)]2
1
:E[Iog(2(4)+3)—Iog(2(2)+3)] Ys
1 1 11 Y%
==(logll-log7 or ==log| =
T Y
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Q. | Sub Marking
No. | Q.N. Answers Scheme
2. Attempt any FOUR of the following: 16

x+1
a) | Evaluate: j—) dx
cos (xe )
Ans JM dx
cosz(xex)
Put xe* =t
soxe*+e*(1) dx=dt
sef(x+1) dx=dt 1
= I 12t dt L
cos v,
:J'seczt dt
1
=tant+c
:tan(xex)+c o
b) | Evaluate I x tan ™" xdx 04
ANs J. xtan~" xdx
—tant xjx dx—'[(J'x dx)i(tan‘l x)dx 1
dx
2 2
=tan~ x~X——IX—~ 1 dx 1
2 2 1+x?
x tantx 1. x°
AL L
2 271+X
1
x tan™* x 1 (1_ 12jdx
2 2 1+x
2 -1
_x'tan X—l( —tan" x)+c 1
2
04
C) | Evaluate: I w dx
X3 —4x
Ans J-x +6X— 8 _.[ x? +6x 8 dx
2)(x+2)
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Subject Name: Applied Mathematics Model Answer Subject Code:| 17301
Q. | Sub Marking
No. | Q.N. Answers Scheme
2. | © x> +6x—8 A B C Y

=ty
x(x—2)(x+2) X X—2 X+2
X* +6x—8=(x—2)(x+2)A+x(x+2)B+x(x-2)C
Put x=0
—8=—4A
“A=2 &
Put x=2
8=8B L7
.B=1
Put x=-2
-16=8c Y
s.c=-2
x> +6x—8 2 1 2
=—4—- =
X(X=2)(x+2) x Xx-2 Xx+2
2 —
j X +6x-8 dx:j(g+i—ijdx
X(x—2)(x+2) X X—2 X+2
=2log x+log(x—2)-2log(x+2)+c 2
d) | Find maxima and minima of x® —18x? +96x 04
Ans | Let y=x*—18x*+96x
dy Vo
S —L =3x*-36x+96
dx
2 s
29 _6x-36
dx
Considerﬂzo
dx
3x?—36x+96=0 1
S.X=4o0rx=8
atx=4
2
9 _6(4)-36=-12<0 v
dx
sy is maximumat x =4
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Subject Name: Applied Mathematics Model Answer Subject Code:| 17301
Q. | Sub Marking
No. | Q.N. Answers Scheme
2. | d) |y —(4)-18(4)"+96=160 7
at x=8
2 1
9y _6(8)-36=1250 ’
dx
Sy isminimumat x =8
Yo =(8)° ~18(8) +96 =128 7
e) | Find the equation of the tangent and normal to the curve 2x* — xy +3y*=18 at (3,1) 04
Ans | 2X°—xy+3y?=18
1

4x—(xﬂ+ y.l}+6yﬂ =0
dx dx

4x—xd—y—y+6yﬂ:0

dx dx

.. slope of tangent, m = _Tll

Equation of tangent at (3,1) is
-11

-1=—-(x-3
y-1=—=(x-3)
~3y—-3=-11x+33
2 11x+3y-36=0
, -1 3
-.slope of normal , m'=—=—
m 11
Equation of normal at (3,1) is
3
-1=—(x-3
y-1=7(x-3)

Ya

Ya

Yo

Yo

Yo
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Subject Name: Applied Mathematics Model Answer Subject Code:| 17301
Q. | Sub Marking
No. | Q.N. Answers Scheme
2. e) |..11ly-11=3x-9

S3x-11ly+2=0 1
f) | Atelegraph wire hangs in the form of a curve y =alog sec(ij where 'a' is constant. 04
a
Show that the curvature at any point is icos(gj
X
Ans | y=alog sec(gj
1
Yoa (_J tan (éjl
X sec( X j a aa
a
Yt (fj
dx a
2 1
Z = sec’ (ij—
X aja
2%
{1+(dyj }
_ dx
Radius of curvature p = >
d7y
dx?
%
{1+ tan? (XH
_ a 1
L sec? (Xj
a a
N
()
3 a
sec? (X]
a
asec® (Xj
__\&)
sec? (Xj
a
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Subject Name: Applied Mathematics Model Answer Subject Code:| 17301
Q. | Sub Marking
No. | Q.N. Answers Scheme
2.
" asec® (Xj
.. Radius of curvature p = &
sec? (X)
a
= asec(ij 1
a
1 1 (x}
. curvature x == ==cos| =
p a a
3. Attempt any FOUR of the following: 16
7
dx 04
a) | Evaluate | ——
5 1++/tan x
7 dx
Ans —
-([ 1++/tan x
7 dx
21, Jsin x
COS X
J- Jeosx dx
COS X ++/sin X
7 [cos X
Lt = j L — (1) v
Jcos X ++/sin
cos| % —
72'
cos = - x sm =
R=e J :
A -
sin x
L. I = dX _______ 2
;[x/sinx+«/cosx (2)
add (1)and(2)
.'.I+I:j ‘COSX_ dx+I _ bl dx
+ \JCOS X ++/sin X ¢ \/Sin X ++/cos x
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Subject Name: Applied Mathematics Model Answer Subject Code:| 17301
Q. | Sub Marking
No. | Q.N. Answers Scheme
3 3) 7 COS X ++/sin X 1
n21= ] — dx
5 \/COS X ++/Sin X
7
w21 = [1dx
0 Y%
_[v1%
21 =[x]; v,
21=2_¢
2
1=z Y
4
b) | Find the area bounded by the curve y? =9x and x? =9y 04
Ans | Y2 =9X - (1)
x* =9y
x2 )’
eq".(1)= [—] =9x
9
x* = (9)3 X
x* —(9)3 x=0
x(x*—(9)’)=0
(=) )
x=0,9
b
Area A= |(y,—y,)dx
9 2
A=| Lsf —X—jdx 1
0
9
2 1
3x2 X
A= S
3 27
2 0
: (9)
A=|2(9): _QJ
27
A=27 1
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Marking
Scheme

c)

Ans d_y:(x+y)2

d
'.'J‘1+\\l/2 :_[dx

stantv=x+c
stanT(x+y)=x+c

Yo
Yo

Yo

Yo

2 2
d) Solve : d_y = u
dx 2xy
d_y B X2 + yZ
dx 2Xxy

Puty =vx

Ans

dv x*+v?x°
dx 2x(vx)
dv x2(1+v2)
dx 2vx®
dv  1+v?
dx  2v
xd—V=1+V2 —V

dx. 2v

SVEX

04

Yo
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Subject Name: Applied Mathematics Model Answer Subject Code:| 17301
Q. | Sub Marking
No. | Q.N. Answers Scheme
3. d | Xﬁ_1+v2—2v2

G 2V
dv 1-v2
X—=
dx 2v
2V2dv:1dx
1-v X 1
-2V 1
”_Il—vz dv:I;dx
~.—log(1-v*)=log x+c 1
. y*
..—Iog(l—Fj:Iogx+c Yo
04
€) | Solve: (1+x)g—y—y=e3X (1+ x)2
X
Ans (1+x)%—y:e‘°’x (1+x)’
X
Y
.'.Q—Lze“(“x)
dx 1+x
. . dy
Comparing with d—+ Py=0Q
X
1 Y%
A P=—— Q=6(1+x
1+X Q ( )
L x
AL =™ 1
AlF.mete o 1
1+x
Solution is
y.I.F.:_[QI.F.dx+c
1
1 ¢, 1
SLy—=|e”(1+x)| — |dx+c
y1+x ( )(1+ xj
.'.L:J'esdeJrc
1+Xx
y e3X
Yo 1
1+x 3
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Subject Name: Applied Mathematics Model Answer Subject Code:| 17301
Q. | Sub Marking
No. | Q.N. Answers Scheme
3. T XS 04

f) | Evaluate : J‘an( dx
o 1+cos” X
T xsinx
Ans | Let | = dx 1
£1+c032x )
_ I_]i(zr—x)sin(ﬂ—x) . !
) lvcos?(z—x)
T _ H ]/2
Xx)sin x
5 1+C0s” X
T msinx Xsin x
Sl = | ————dx—- | ———dx
-([1+coszx -([1+coszx
T msinx
sl= dx—1
£1+coszx
21 -2 S1X_g .
o 1+cos” X
Put cosx =t
. —sin xdx = dt
~.sin xdx = —dt Yo
x—>0 , t->1l
X—>r ,t—>-1
-1 l
s2l=x —dt
~1[1+t2 (-dt)
-1
s20 =—7zj ! > dt
, 1+t v,
. _ 14\
w21 =—z(tant), "
s 21 = —ﬂ(tan’l(—l)—tan’ll)
21 =—7z[—1—5j
4 4
| &
.o —T
4. Attempt any FOUR of the following: 16
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Q.N.

Answers

Marking
Scheme

Ans

b)

Ans

X
| 5B

Evaluate : '[

dx

dx

CFoAB-x
Let I_!ﬁ+48—x

J8-(3+5-x)

dx

! =£J(3+5—x)+J8—(3+5—x)

«/8—8+x

5
s=
'!«/8—x+\/8—8+x

dx

LR
"I_iﬁhﬁd

add (1) and (2)

Bx

(2)

. K
I+I:Iﬁ+ﬁdx+£ﬁ+ﬁdx

[,
\/;+\/8_x

221 = jldx

-,

21 =
sl=

-

s

4
Evaluate j log (1+ tan x)dx
0

s

4
Let | :J.Iog(1+tan x) dx
0

1
I :Ilog 1+tan(——dex
0 4

tan = — tan x
4

T
I :Ilog 1+ p.
0 1+tan—tan X

dx

04

Yo
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Subject Name: Applied Mathematics Model Answer Subject Code:| 17301
Q. | Sub Marking
No. | Q.N. Answers Scheme
4. b) z Yo

I :Ilog 1+1—tandeX
5 1+tan x
: _
| :jlog 1+tan x +1—tan dex
5 1+tan x
@ Vs
I :jlog 2 jdx
5 1+tanx
i
| = j[log 2—log (1+ tan x) Jdx
0
g
| =log 2.[ dx —j log (1+ tan x) dx
0 0
. Yy
| =log2[x]4 - |
T
2l =log2| —-0
’ {4 }
T
I =Zlog2 1
3 g
) ) ) 04
¢) | Solve D.E. (2xy+ y )dx+(x + 2Xy +sin y)dy =0
Ans | Let M =2xy+ y? N = x> +2xy +siny
1
.'.ﬂ:2x+2y .'.@=2x+2y
oy OX
M _aN )
oy ox
.. D.E. exact
Solution is
J' M dx+  Ndy=c
y—constant terms not containing'x'
Iyiwnstam(2xy+ y?) dx+fsin ydy=c 1
X2y +xy?—cosy=c 1
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Subject Name: Applied Mathematics Model Answer Subject Code:| 17301
Q. | Sub Marking
No. | Q.N. Answers Scheme
4. 04

d) | Find the area enclosed between the parabola y = x> and the line y = 4.
Ans | y=x
4 =x?
X=%2 !
2
A=[(x-4) 1
-2
3 2
A:(X——4x]
3 -2
1
(2)° (-2)
A=l _4(2) |- =L —4(-2
[ L-4(2) |-| Sk -a(-2)
A=32 o 10667 1
3
€) | Evaluate: X dx 04
'[(x2 —1)(x2 +2)
X
Ans dx
J.(xz —1)(x2 +2)
Put x* =t
- 2xdx = dt 1
xdx:ﬂ
2
I 1 dt
-t +2) 2
_ 1 __A.B
Ct-D(t+2) t-1 t+2
1=(t+2)A+(t-1)B
Putt=1
1
L A=l
3
Putt=-2
3
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Subject Name: Applied Mathematics Model Answer Subject Code:l 17301
Q. | Sub Marking
No. | Q.N. Answers Scheme
4, e)
11
1 3.3
t-D(t+2) t-1 t+2
_..Ej; dt :1(1 ST dt}
27 (t-D(t+2) 2(37t-1 37t+2
Y.
:llog(t—l)—llog(t+2)+c ’
6 6
:llog(xz—l)—llog(x2+2)+c 1,
6 6
2
f) | Show that y* = ax’ is a solution of x(d—yj —2yﬂ+ ax=0 04
dx dx
Ans y? = ax?
ZyQ = 2ax
dx 1
Oy _ax
Tdx oy
2
X (ﬂj -2y ol + ax
X dx 1
[asz (axJ
=X| — | —-2y| — |[+ax
y y
xa’x’
- ra 2ax + ax
_xa’xt 1
ax’
=ax —ax
= 1
5. Attempt any FOUR of the following: 16
a) | Aroom has 3 electric lamps. From a collection of 15 electric bulbs of which only 10 are good , 04
3 are selected at random and put in the lamps. Find the probability that the room is lighted by
atleast one of the bulbs.
Ans | P =P(room is lighted by atleast one of the bulbs)
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Subject Name: Applied Mathematics Model Answer Subject Code:| 17301
Q. | Sub Marking
No. | Q.N. Answers Scheme
5 | @ | P=1-P(roomis not lighted)
5C 2
P=1-% :
3
P=89 o 09780 2
91
OR
P = P(room is lighted by atleast one of the bulbs)
P *C, x°C, +1C, x °C, + °C, 2
15(:3
P _89 or 0.9780 2
91
b) | If the probability of bad reaction from a certain injection is 0.001, determine the chance that 04
out of 2000 individuals more than two will get a bad reaction.(Given:e® = 7.4)
Ans | p=0.001 n=2000
S.m=np=0.001x2000 =2
p(more than 2) = p(3)+ p(4)+ p(5)+...
=1-[p(0)+ p(@) + p(2)]
e2.(2)° e2.(2)} e2.(2) 2
[e@ @) et
0! 1! 2!
=0.3243 5
. . . 04
c) | FitaPoisson distribution.
X 1 2 | 3|45
f 12 | 60 | 15|02 | 01
f.x
Ans | Mean=m= %
1(12)+2(60)+3(15)+4(2)+5(1)
j 12+60+15+2+1
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(Autonomous)
(ISO/IEC - 27001 - 2013 Certified)

WINTER- 2019 EXAMINATION

Subject Name: Applied Mathematics Model Answer Subject Code:| 17301
Sub Answers Marking
Q.N. Scheme

c 2
) Som= @ =211
90
Poisson distribution is ,
e"m'
P(x=r)= o
e—Z.ll (le)r 2
~P(r)= o
dx
d) | Evaluate j - 04
5+3cos x
dx
Ans ~[5+3cosx
_ 2
PUL tan> =t dx:it2 : cosx = tz
2 1+t 1+t
2dt
2
| _'[ 1+t - 1
1-t
5+3( 2]
1+t
_J- 2dt
5(1+t%)+3(1-t*)
dt
=2
I5+5t2 +3-3t?
1
- zj gt
2t° +8
_'[ dt
t?+4
=_[ dt 1
t? +(2)2
~Lian lj+c
2 2
. tan >
=_tan™" +C
2 1
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Marking
Scheme

Q. | Sub
No. | Q.N.

Answers

04

5, 7

e) Evaluate:'[
v 1+cotx
7 1

5 1+cotx

Ans dx

% sin x

sin X+ cos X

7 sin(é x)

dx

'—‘N

0 5|n(77 )-I—COS(

T

COS X
dx

e
@

O =3

COS X +Sin X
add (1) and (2)

7T,
5 SiN X+Cos X

77
sin X + €os X
21 = I— dx
5 SINX+COS X

g7
2|:j1dx

5 .
SIn X
.‘.I+I=.[—dx+

T
7 COS X
[ SOSX gy
5 COSX+SINX

04

f) | Solve
Ans dy

2,2
e y

d _
_y:esx 2y | 2

e
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5. f
) d_yze_Zy(estz)
dx 5
J'ezydy = J.(e3X +X*) dx
eZy eSx X3
——="—+—+C 5
2 3 3
e 16
6. Attempt any FOUR of the following:
a) | Inasample of 1000 cases . the mean of certain test is 14 and satandard deviation is 2.5. 04
Assuming the distribution to be normal find:
(i) How many students score between 12 and 15 ?
(ii) How many students score above 18 ?
Given  A(0.8)=10.2881
A(0.4)=0.1554
A(L.6)= 0.4452
Ans | Given x=14 o©=25 N =1000
i) Forx =12
x—x 12-14
z == =-0.8 Y,
Forx=12
,_ X—X :15—14 04
o 2.5
~. p(between 12 and 15) = A(-0.8)+ A(0.4)
=0.2881+0.1554 1
=0.4435
.. No.of students=N - p
=1000x 0.4435 &
=443.5~ 444
i) Forx=18
x 18-14 7
z _XZX_°0-4 =1.6
o 2.5
~. p(above 18)=0.5—- A(1.6)
=0.5-0.4452 1
=0.0548
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6. a) | .. No.of students= N - p=1000x0.0548

=54.8~55 1,
b) |fF>(A)=1,F>(B')=§ and P(é -3 Find P(ANB) and P(E] 04
5 5 B) 4 A
Ans
Given P(A):E,P(B'):§ and p(éjzl
5 5 B) 4
3 2 1
P(B)=1-P(B')=1-===
(B)=1-P(B)=1-2=£
P
p(éj: (AnB)
B P(B)
.3 _P(ANnB)
..Z— g
5
2 3x2-P(AnB)
4 5
3 1
P(AnB)=—
(AnB)=15
and
(Bj_ P(ANB)
A)  P(A)
3
B) 10 1
(34
5
B) 3
Pl—|==
(A] 2 '
c) | A metal wire of 36 cm long is bent to form a rectangle.Find its dimensions when its area is 04
maximum.
Ans | Let length of rectangle = x , breadth =y
2X+2y =36
S X+y=18 Sy =18-x 1
Area A= xy
S A=x(18-x) 1
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c) | .. A=18x—x?
.'.d—A:18—2x
dx

2

d f:-z
dx

Consider d—A =0
dx

18-2x=0
S.X=9

atx=9

soAerais maximumat x =9
SoX=9
sy=9

d) | Find the area of the region lying between the parabolas y? = 4ax and x* = 4ay

Ans | y?=4dax = - (1)

T6a? = 4ax

~oxt =64a%x
S x'—64a’x=0
x(x3—64a3):0
S.x=0,4a

b
AreaA:I(yl— y, ) dx

a

A:i[zﬁf_:_;jdx

Yo
Yo

Yo

Yo

04
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6. d) 4a 142

SA= J-[Z\Exz —X—jdx
0 4a
4a
3
2Jaxz ¥ 1
A= -
3  12a
2 0
3
2\a(4a): (4a)’
SA= - -0
3 12a
2
2
L A=10 or 5.333a° 1
e) | Find the equation of tangent to the curve y = 9x* —12x + 7 which is parallel to x —axis. 04
Ans | Y=9x*—12x+7
dy =18x-12 1
dx
Slope of tangent which is parallel to x —axis ism=0 Ya
~.18x-12=0
12 2 Y
STh
2
1
yzg(gj —12(3j+7=3 72
3 3
2
Xy)==,3
(y)=(23)
at (33)
3
Equation of tangent is,
Ly-y, =m(x-x)
2
~-3=0| x-= 1
! ( 3)
y=3 1y
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6. f) | The probability that a man aged 65 will live to 75 is 0.65. What is the probability that out of 10 men 04
which are now 65, 7 will live to 75?
Ans | Given
0=0.65, q=1-0.65=0.35 !
n=10,r=7
wp(r)="C,(p) (a) ,
~p(7)="C,(0.65) (0.35)""
1

- p(7)=0.2522

Important Note

In the solution of the question paper, wherever possible all the possible alternative methods of
solution are given for the sake of convenience. Still student may follow a method other than the
qiven herein. In such case, first see whether the method falls within the scope of the
curriculum, and then only give appropriate marks in accordance with the scheme of marking.
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